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Duration: 2lnHrs
Note:-
l) All Questions are compulsory
2) Figures to the right indicate maximum marks.

Ql.A) Fill in the blanks: (Any 8) {COl, COz, C03, CO4 - (R, U)}
1) llRP planning is oriented.

(a) Present (b) Past (c) Future (d) A11 of these

2)A

Se:rt Number: -

(cl) None of-tirese

(d) None of these

M:rrl<s: - -:

(nNr)

summarizes the skil1s, education and experiences o1'cunent en-iplo1,ees.

(a) Skill lrrveutory (b) Stalling Table (c) Successior.i Plan (d) None ol these.

3) .loh Analr,sis : .lob Description +
(a) Design (b) Redesign (c) Specitication (d) None of rhesc.

4 ) Ilnrplor,ee refers to the various policies and practices which let the emplovccs
stich to an organization for a longer period of time.
(a) Tr-rrnover (b) Retention (c) Flexibiliti,

5) Selection test help in the assessment of individuals.
(a) Ob.jective (b) Sub.iective (c) Both

6) N,{Lrltiskilling helps to create workforce
(a) Itigid (b) Flexible (c) Burdgers (d) pr.ogranlres

7) Globalization has in-rpacted HRP process in terms 01'_
(a) Ellrplovee l{ctention (b) Ourtsourcing (c) Restrr-rctr-iring (d) Incleased N4anpouer. (.ir rl

8) Conflicts alise clue to ol'opinion.
(a) Disagleement (b) Agreement (c) Expert (d) Coercive

9) IIRIS is a Systen-r.

(a) C.lontputerizecl (b) Manual (c) CornpLrterizecl & N4anr,ral 1cl) Nonc
1O) FiRIS the cost of data storage.

(a) Increases (b) Decreases (c) Does not Intlr-terrce (cl) Nonc

Qt. B) state whether the following statements are True or False: - (Any 7)

{col , coz, co3, co4 - (R) & (U)}
(7NI)

l) Ilt{P is a continnor-ls process.

2) I'IRP lbcr.tses only on fetching the right number o1'people in the orsanizatic'in.
3) \\iorli stud,v technique defines the'uvork load of an individual.
.{) .lob analysis helps in proper placement of'employees.

-5) 
'l-ermiitation and la.voff n-reans the same thing.

6) Cilobalization has increased manpower cost.

7) Stnfling the LIRP dcpartnlent does not require specit-ving.job requirerncnt in III{P
8) I-iRiS is r.rot comltosite of database

9) Inlornration neecls diff-el fi'om organizatiorr to organization.
10) I IItIS clocs not crcate adrninistrative c1ata.



1. !t!11'e r the follrlrving:
',; i ..plain tire f'eatures of Human Resource Planning (HRP)? {CO1 (U)}
l; i i)i::cLrss tlte barriers in eflective implementation of I-IRP? {CO1 (U)}

OR
' ' : i .riscLrss the levels of HRP? {CO1 (U)}
r 't i'r..p1ain the requirements for ef-lsctive FiR Planning? {CO1 GD}

i risu'cr the fbllox,ing:
' i \\'lurt do vou rrean b\,.lob Analysis'/ Explain its featr-ues? {CO2 (U)}

.: r i )iscrrss t,lr.r'ior-rs enrployee retention technicpres used by olganization?
r( 01. CO2 (AP))

OR
, \,'r'lrlt is lecruitment? Explain the various factors affecting recruitment?

I {.'( )2(R) (Lr) l

'r i :\iirtL- the areas o1'lluman Resource Audit'l IC]O1, CO2 (U)]

. i n\\1 cr the lollon'ing:
' i l:rplain the role of i-iRP practitioner in an organization? {C03 (U).}

, , ) irr.piain the impact of globalization or.r the ilRP process? {CO1, CO3 (U)}
OR

i i l '.plain the irnpurtance of management training and development?
{ ()1. (,Oj (U)}

;,,] r.irlainthcinrpactol'mergersandacquisitionsontheprocessol'l{RP'/
;('i)1. CO3 (AN)l

i. irsu tr thc follorving:
', I \\ hat clo 1,ot-t mean by HRIS? f)iscuss its f-eatures? {CO4 (U)}

, r i)i:rtrriSS the HRIS Subsysterns? [CO1. (L])]

olt
r, i'rir' Slrort Notes on: (Any 'lihrec) {CO1 , CO?,

I r I lunlur Resource Audit.
; 1 'onrllouents of l'{RIS.

,, I tr lti -Slii I I Developnrer-it.
,i llcncis in III{lS

-. t illi Irolic1..

co3, co1- (R) & (u))
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